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QUESTION 1

Material is transferred between the Subinventories within an organization via transfer order. The setup is complete and
the transfer order is created though the FBDI process.

What is the primary interface data that needs to be completed in the template?
A.CST_|_INCOMING_TXN_COSTS

B. INV_SUBINVENTORY_TRANSFER

C. INV_TRANSACTION_LOTS_INTERFACE

D. INV_SERIAL_NUMBERS_INTERFACE

E. INV_TRANSACTIONS_INTERFACE

Correct Answer: E

QUESTION 2

Which two tasks must be defined to a set up the Facilities Schedule? (Choose two.)
A. Manage Facility Workday Patterns

B. Manage Facility Operations

C. Manage Facility Holidays

D. Manage Facility Time Cards

E. Manage Facility Shifts

Correct Answer: AE

QUESTION 3

Given the set of navigation rules:
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<navigation-rule>
<from-view-id >list-widgets</from-view-id>
<navigation-case>
<from-outcome>add</from-outcome=
<to-view-id>add-widget</tc-view-id>
</navigation-case>
</navigation-rule>
<navigation-rule>
<from-view-1d>"< [ from-view-1d>
<navigation-case>
<from-outcome>home</from-outcome=>
<to-view-id>home</ te-view-id=>
</navigation-case>
<navigation-case>
<from-outcome>logout</from-outcome>
<to-visw-id>goodbye</to-view-1d>
</navigation-rule>
<navigation-rule>
<from-view-id>home</ from-view-id >
<navigahion-case>
<from-outcome>dashboard</ from-outcome:
<to-visw-id>dashboard</to-view-id>
</navigation-case>
<navigation-case>
<from-outcome>list</from-outcome>
<lo-vizw-id=lisl-widgels</ lo-view-id=
</navigation-case>
</navigation-rule>

Which two define a valid flow of view IDs through the application? (Choose two.)
A. home > goodbye > list-widgets

B. dashboard > home > add-widget > list-widgets

C. list-widgets > add-widget > home > dashboard > home

D. home > list-widgets > add-widget > goodbye

Correct Answer: CD

QUESTION 4

Given the following code:
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EWebServlet{urlPatterns = {"/ myServlet}, asyncSupported=true}
public class NonBlockingServlet extends HttpServiet{
protected void processRequest (HttpServletRequest reg,
HttpServletResponse res)
throws ServletExcaption, IOException {
AsyncContext ac = req.startAsyne();
// linel

What should you do at line 1 to enable this servlet receive request data without blocking?
A. Use a Runnable instance with the start () method of AsyncContext.
B. Define a ReadListener and assign it to the request input stream.

C. Create a Callable class and delegate this operation to a ManagedExecutorService by using the dispatch method of
AsyncContext.

D. Define an AsyncListener and assign it to the AsyncContext object.

Correct Answer: D

QUESTION 5

Your customer is setting up serial control. The requirement is that if item A has serial 123, then they don\\'t want item B
to also have serial 123 within the same inventory organization.

Which serial control setting must be used to meet this requirement?
A. Unique across Enterprise

B. Unique within items

C. Unique within organization

D. Unique across organizations

E. Unique within Item and organization

Correct Answer: C
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